NAME DATE PERIOD

4-1 Study Guide and Intervention

Writing Equations in Slope-Intercept Form

Write an Equation Given the Slope and a Point You can write an equation of a line if you are given a slope and a point
other than the y-intercept.

Example 1: Write an equation of the line that passes Example 2: Write an equation of the line that passes
through (-4, 2) with a slope of 3. through (-2, —1) with a slope of i
The line has slope 3. To find the y-intercept, replace m . 1 1 )
with 3 and (x, y) with (~4, 2) in the slope-intercept form. The line has slope ;. Replace m with - and (x, y) with
Then solve for b. (-2, -1) in the slope-intercept form.

y=mx+b Slope-intercept form y=mx+b Slope-intercept form

2=3(-4)+b m=3,y=2andx=-4 —1:%(—2)+b m=%,y=—l,andx=—2

2=-12+b Multiply.

Py 1=—14p Multiply.
14=0p Add 12 to each side. 2
1_ .

Therefore, the equation is y = 3x + 14. —5=b Add ; to each side.

Therefore, the equation isy = %x — %

Exercises
Write an equation of the line that passes through the given point and has the given slope.

1. y / ] 2. y 3. — 1y
(3,5) m=y
RN Za(r)
S A
|m = 2—! —T =i
im=2] (0,0)
(0] X [e) X (0] X
y=2x-1 y = =2X y:%x+3
4. (8, 2); slope —% 5. (-1, -3); slope 5 6. (4, -5); slope —%
y:_EX+8 y=5x+2 y:_lx_g
4 2
7. (-5, 4); slope 0 8. (2, 2); slopel 9. (1, -4); slope -6
1 2
y=4 y=5x+1 y =—-6x +2
10. (-3,0),m=2 11.(0,4),m=-3 12. (0, 350), m =§
y=2X +6 y==3x+4 y:§X+350
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4-1 Study Guide and Intervention coninueo
Writing Equations in Slope-Intercept Form

Write an Equation Given Two Points If you are given two points through which a line passes, you can use them to find
the slope first. Then you can use that slope and one of the points to write the equation of the line.

Example: Write an equation of the line that passes through (1, 2) and (3, -2).
Find the slope m. To find the y-intercept, replace m with its computed value and (x, y) with (1, 2) in the slope-intercept
form. Then solve for b.

V2=

m= H Slope formula
m= _32—_12 Y2=-2,y1=2,%=3,x =1
m=-2 Simplify.
y=mx+Db Slope-intercept form
2=-2(1)+b Replace m with —2, y with 2, and x with 1.
2=-2+D Multiply.
4=D Add 2 to each side.

Therefore, the equation isy = -2x + 4.

Exercises

Write an equation of the line that passes through each pair of points.

1. y ’ 2. y ‘ 3. y
lﬁt 1 (0,4) o -
0,1 1
ol / X /P’//
/ (3,019 X
)!(0,—3) o (4, 0)]\L_x
"ol | |
y =4x -3 y=—x+4 y:§x+1
4. (-1, 6), (7,-10) 5.(0,2),(@1,7) 6. (6, -25), (-1, 3)
y==2x+4 y=5x+2 ==4x -1
7.(-2,-1), (2, 11) 8. (10, -1), (4, 2) 9.(-14,-2),(7,7)
y=3x+5 y:—%x+4 y:%x+4
10. (4, 0), (0, 2) 11. (-3, 0), (0, 5) 12. (0, 16), (-10, 0)
y:—%x+2 y:§x+5 y:§X+l6
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